25.

26.

27.

(a)
(b)
(c)

(a)
(b)

()

(@)
(b)

(c)
(d)

(a)
(b)

(c)
(d)

(i) $(11 000 — w)
(i) 1983.61

(i) $(12 100 - 3.1w)
(ii) 19.0%

He want to repay the loan with lesser total interest.

(i) $43.59
$6

i W-6 o 3
(i v= 15T + 05 (ii) 16.0 m
357 million Singapore dollars
(i) 199.99 Australian dollars
(i) 248.74 Singapore dollars
Australian tourists

227 Singapore dollars

(i) $(200 000 - x)
(ii) 120 000 < 200 000 - x < 160 000
(i) $(0.085x — 2500)
(i) S(21 100 - 0.14x)
60 000
(i) Kwong Fui: $60 000;
Tiong Ghee: $140 000.
(ii) Kwong Fui: $2600;
Tiong Ghee: $12 700.

Enrichment

28.

29,

31

(a)

(a)
(b)

(a)

(a)
(b)

© "%

12.5 00

(b) $240

(i) SGD 476.45
EUR 19.24

(ii) EUR 224.84
(¢) Germany
9.05 (b) 13 years

(i) $2080
1089.51

(i) 1071.30

Chapter 6 Graphs in Practical
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1.

2.

3.

164

(a)
(a)

(a)
(b)
(e)

(a)
(b)
(c)

(a)

(b)
(c)

(b)

Situations
Practice
Third and fourth quarters (b) Yes
58¢ (b) $2 (©)" '%17.55
3
(i 2 (i) 3
1 h 44 min
150 m
(i) 37.5 m/min (ii) 0 m/min (iii) 50 m/min
250 m (d) 25 m/min
360 m
(i) 90 m/min (ii) 45 m/min
60 m/min
() 2.5mss (i) 3% m/s

8 (a () 03ms (i) 0.09m/s® (i) 0 m/s’
(b) (i) 47.25m (ii) 1.89 m/s
9, (a) 10.08 km/h
(b) (i) -026m/s’ (ii) 0.16 m/s”
(¢) 0.26 m/s*
(d) (i) 348m (ii) 5.8 m/s
10. ) () 0ms (i) -% m/s?
() (i) 240 m (ii) 9.6 m/s
Further Practice
11. (a) 30 to 44 years old
(b) 700 000
(c) 81.8%
12. (a) (i) $0.89 (i) $1.10 (iii) $1.70
(b) 10.8 km to 14.4 km
13. (a) 32 (b) $4800 "
() () $7680 (i) 250 g &
14. (a) China: 9.5; 32.9
Japan: 20.9
Taiwan: 12.0; 77.5
Total: 108.7; 767.0 *
(b) (i) $26.0 billion (ii) $36.0 billion
(¢) Malaysia, Taiwan and United States
(d) (i) 2005 (i) $328.5 billion
(e) Lose
15. (a) (i) 36m
(ii) Furthest distance = 120 m
Nearest distance = 32 m
(b) E(60, 20)
© () 320m (i) 5% m/s
16. (b) 12.8 km
(¢) (i) 23 km/h (i) 27.8 km/h
17. (a) (i) r=0tor=1 (ii) 213111/5. .
(b) 1% m/s
(¢) (i) 240m (ii) 2 minutes
18. (b) (i) 21 m/fs (i) 20 m/s (iii) 14 m/s
19. @) 1,=6T=28 (b) 41% mis () 3.75 m/s’ ®
(d) 21.6 (e) 930 m
20. (a) 4
(b) (i) 1152m (i) —E%Im’s2 (iii) 1.6 m/s
(c) 1.68 m/s

Challenging Practice
21. (a) (i) $900

(b) (i) Above 50 but at most 55

(ii) $1552.50 (iii) $337.36
(ii) $676.09

(¢) The proportion increases with age.



